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The age of Amit is twice that of Babar. The ratio of age of Amit 6 years hence to that 

of Babar 8 years hence is 17 : 11. If the age of Simran 6 years hence will be 4 years 

more than the age of Amit 5 years hence, then find the present age of Simran.

अमित की आयु, बाबर की आयु की दोगुनी है। 6 वर्ष बाद अमित की आयु से बाबर की 8 वर्ष बाद की 

आयु का अनुपात 17 : 11 हो जाता है। यमद 6 वर्ष बाद मसिरन की आयु 5 वर्ष बाद अमित की आयु से 

4 वर्ष अमिक होगी, तो मसिरन की वतषिान आयु ज्ञात कीमजए।

a) 28 years

b) 31 years 

c) 35 years

d) 30 years
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AB is a chord of a circle with centre O and P is any point on the circle. If ∠APB = 

122°, then what is the measure of ∠OAB ?

AB कें द्र O वाले वतृ्त की जीवा है और P वतृ्त का कोई मबिंदु है। यमद ∠APB = 122° है, तो ∠OAB 

का िाप क्या है?

a) 22°

b) 32°

c) 28°

d) 15°
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If sinθ = 0.8, then find the value of (25cosθ + 9tanθ - 1) ÷ (4cotθ - 27secθ + 

1).

यमद sinθ = 0.8 है, तब (25cosθ + 9tanθ - 1) ÷ (4cotθ - 27secθ + 1) का िान ज्ञात 

कीमजए।
a) -

𝟐𝟔

𝟒𝟏

b) -
𝟐𝟔

𝟒𝟏

c) -
𝟐𝟔

𝟒𝟏

d) -
𝟐𝟔

𝟒𝟏
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If x2 + y2 + 1 = 2x, then the value of x3 + y5 is 

यमद x2 + y2 + 1 = 2x है, तो x3 + y5 का िान है:

a) 0

b) 1

c) -1

d) 2
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The area of a square inscribed in a circle is 1352 cm2. Find the sum of the 

numerical value of the area and perimeter of the circle in which the 

square is inscribed.

एक वतृ्त िें अन्तमनषमहत एक वगष का के्षत्रफल 1352 सेिी2 है। उस वतृ्त के के्षत्रफल और 

पररिाप के सिंख्यात्िक िान का योग ज्ञात कीमजए मजसिें वगष अन्तमनषमहत है।
a) 676√2 π

b) 626 π

c) 728√2 π

d) 728 π
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Raman and Tapan starts a business and invested Rs. 10,000 and Rs. 50,000 

respectively. After six months Raman added Rs. 10,000 more and Tapan withdrew 

Rs. 30,000. At the end of the year if business profited Rs. 10,000 then find the profit 

earned by Tapan.

रिन और तपन ने क्रिशः 10,000 रुपये और  50,000 रुपये का मनवेश करके एक व्यवसाय शुरू 

मकया है। छह िहीने के बाद रिन ने 10,000 रुपये का अमतररक्त मनवेश मकया है और तपन ने 30,000 

रुपये मनकाल मलए हैं। वर्ष के अिंत िें यमद व्यवसाय को 10,000 रुपये का लाभ प्राप्त होता है, तो तपन 

द्वारा अमजषत लाभ ज्ञात कीमजए। a) Rs. 7000

b) Rs. 3000

c) Rs. 7500

d) None of the above
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A man sells an article at 10% above its cost price. If he had bought it at 15% less 

than what he paid for it and sold it for Rs. 33 less, he would have gained 10%. Find 

the cost price of the article.

एक व्यमक्त एक वस्तु को उसके क्रय िूल्य से 10% अमिक िूल्य पर बेचता है। यमद उसने इसे उसके 

भुगतान से 15% कि पर खरीदा होता और उसे 33 रुपये कि पर बेचा होता तो उसे 10% का लाभ 

होता। वस्तु का क्रय िूल्य ज्ञात कीमजए।

a) Rs.150

b) Rs.225

c) Rs.200

d) Rs.320
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Two inlet pipes separately fill a cistern in 20 minutes and 30 minutes respectively, 

but due to leakage, both the inlet pipe fill it in 15 minutes. If the inlet pipes are 

closed then, the leakage can empty the full cistern in how many minutes?

दो इनलेट-पाइप पथृक्त: एक टिंकी को क्रिशः 20 मिनट और 30 मिनट िें भरते हैं। जब दोनों पाइप 

को एकसाथ खोला जाता है तो ररसाव के कारण दोनों इनलेट-पाइप इसे 15 मिनट िें भरते हैं। यमद 

इनलेट पाइप को बिंद कर मदया जाए, तो ररसाव मकतने मिनट िें पूरी टिंकी को खाली कर सकता है?

a) 60 minutes

b) 40 minutes

c) 30 minutes

d) 120 minutes
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A construction company hired 1000 persons to construct a building in 77 days but 

the company realized after 44 days 40% of the work had been finished. Then, to 

complete the work on the scheduled time how many persons company has to 

increase ?

एक मनिाषण किं पनी ने 77 मदनों िें एक इिारत के मनिाषण के मलए 1000 व्यमक्तयों को कायष पर रखा 

था लेमकन किं पनी को ज्ञात हुआ मक 44 मदनों के बाद 40% कायष ही पूरा हुआ है। तब मनिाषररत सिय 

पर कायष पूणष करने के मलए किं पनी को मकतने व्यमक्तयों की वमृि करनी होगी?

a) 2000

b) 1000

c) 3000

d) 4000
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